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Tekst 6 
 

1p 12 Why did the police stop a boy? (paragraph 1) 
A He caused a car accident.  
B He had run away from home.  
C He was driving all by himself. 
 

2p 13 Geef van elke bewering aan of die juist of onjuist is volgens alinea 2. 
Omcirkel achter elk nummer ‘juist’ of ‘onjuist’ in de uitwerkbijlage. 
1 De jongen was gewend om tractor te rijden.  
2 Tijdens zijn tocht is de jongen gewond geraakt.  
3 De jongen werd pas na een dag opgemerkt door de politie.  
4 De jongen heeft ’s nachts doorgereden. 
 

1p 14 What is pointed out in paragraph 3? 
A how far the boy had driven  
B how many stops the boy had to make 
C how much the boy enjoys travelling 
D how often the boy had been abroad 
 

1p 15 ‘Road trips in Australia are a little different than road trips in many other 
places.’ (alinea 4)  
 Wat is belangrijk als je in Australië op reis gaat?  
Geef antwoord in het Nederlands. 
 

1p 16 What is said about the boy in paragraph 5? 
A He is still being held at the police station.  
B He refuses to speak about the incident.  
C The police will arrest him later this week.  
D The police will talk to him and his family later. 
 

1p 17 Kies bij    17    in alinea 5 het juiste antwoord uit de gegeven 
mogelijkheden. 
A criminal 
B dangerous 
C important 
D unusual 
 
 


